Trade Union, Economic Growth, and Income Inequality
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1. What is the question of paper?
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2.  Why should we care about this?
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3. What is the author’s answer?
T2 {E(unionization)s [#EFEZE A LU/ DELSSEN THFE N > RFTTSHR S Aok
R EFAEEZET - RRE S ERE NS o N Tg{Es]
REFHVFT R N ETY - S8 P SRR R AT S IE (A 52 2 - [H]
BRI RS BN E ANV B A LERE EEENAE > TE
AHEFEEAEENRS > EXGEEDEARRS T -

4. How did the author get there
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5. Example
BT AR Z EIR R EAR - BERIE RIS - B2BI&TA 10~15%Hy55
T AefisiE T Ete s 10~15%HY 1% » ZAH At 85~90%H 255 T & Rt Fr
/KR 4% - BRI R/ DA FHE R - 25 mEE)IA
A LE (5 BT L) » sz e 2R 0 -



Notations
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Physical capital firms hired

Consumption

Working time

Effective labor force

Employment rate

Final good

Unemployment rate

Transformed variable

Firm’s profit

Wage rate per hour

The rental rate of capital

Lump-sum tax

Unemployment benefit

Relative bargaining strength of the union
Positive production externalities for effective labor
Positive production externalities for capital
Share of individual I in the aggregate stock of capital K
Growth rate of capital

Growth rate of consumption

Income inequality

Labor income share



